Hollow shaft

BTCA BESIBGSP Oiles Slide Shifter BA Type (&is?//E8) (&=

Product Identification for Ordering

(e.g.) I.D.is 16mm and length is 75mm. P> BTCA16-75

Specify by

Part No
Dimension Table
4-M Screw |W1IO.2| B n B
. ) ﬂ 03_—2}%‘:};— 1 I\ |
g 8 2 | \
5[ w3 g8 \
Mé! 2y 4 9——%-:;; I 9
4-R1.5~R2.5 / w/2-gos 1 4-M Screw || PA P0.2
W 21 L—c?.a

s Exclusive BTCA guide shafts (BGS, BGSP) are available. Refer to page 311 for the detail.

Partho. |od| L |oD| W | B | 21 |wi [WEMR p | py (W Tighteniigtorue Blarcad eaence
BTCA6-50 6| 501220 | 6|25 14 [M3x5 | 25[12.5/0.03| 0.98{0.10} |0.035~0.070
BTCA6-75 6| 75/ 12| 20| 8 |25| 14 | M3x5 | 50(125(0.07| 0.98{0.10} |0.035~0.070
BTCA8-50 8| 501422 | 8|25 15 |M3x5 | 25|12.5/0.04| 0.98{0.10} [0.018~0.105
BTCAS8-75 8| 75|14 | 22 | 10 | 25| 15 | M3x5 | 50 (12.5/0.09/ 0.9810.10} |0.018~0.105
BTCA10-50 | 10 | 50| 16 | 25 | 10 | 25| 18 |M4x6 | 20 [15 [0.07| 2.4 {0.24] |0.016~0.106
BTCA10-75 | 10| 75| 16 | 25 | 12 | 25| 18 |M4x6 | 45|15 [0.11| 2.4 {0.24} |0.016~0.106
BTCA10-100 | 10 [100| 16 | 25 | 12 | 25| 18 |M4x6 | 70 |15 [0.14] 2.4 {0.24} |0.016~0.106
BTCA12-50 | 12 | 50| 20 | 30 | 12 | 3.0 | 20 |M4x6 | 20 (15 |0.11| 2.4 {0.24] |0.024~0.119
BTCA12-75 12| 75|20 | 30 | 15 | 3.0 | 20 | M4x6 | 45|15 [0.16] 2.4 {0.24} |0.024~0.119
BTCA12-100 | 12 (100| 20 | 30 | 15 | 3.0 | 20 |M4x6 | 70 (15 [0.21| 2.4 {0.24] |0.024~0.119
BTCA16-50 16| 50| 25|35 |15 30| 25 |M5%x8 | 25|15 |0.14| 4.9 {0.50} |0.034~0.127
BTCA16-75 | 16 | 75| 25 | 35 | 15 | 3.0 | 25 | M5%8 | 40[17.5/0.20 4.9 {0.50} |0.034~0.127
BTCA16-100 | 16 |100| 25 | 35 | 20 | 3.0 | 25 | M5x8 | 65(17.5/0.27| 4.9 {0.50} |0.034~0.127
BTCA16-125 | 16 [125| 25 | 35 | 20 | 3.0 | 25 | M5%8 | 90 |17.5/0.34| 4.9 {0.50} |0.034~0.127
BTCA20-75 | 20 | 75| 30 | 45 | 20 | 3.0 | 30 | M6x11 | 40 17.5/0.34, 7.8 {0.80} |0.039~0.150
BTCA20-100 | 20 (100| 30 | 45 | 20 | 3.0 | 30 | M6x11 | 60|20 [0.45 7.8 {0.80} |0.039~0.150
BTCA20-125 | 20 ' 125| 30 | 45 | 20 | 3.0 | 30 | M6x11 | 85|20 |0.56| 7.8 [0.80} |0.039~0.150
BTCA20-150 | 20 [150| 30 | 45 | 30 | 3.0 | 30 | M6x11 |110 |20 [0.68| 7.8 {0.80} |0.039~0.150
BTCA20-200 | 20 [200| 30 | 45 | 30 | 3.0 | 30 | M6x11 |160 |20 [0.91| 7.8 {0.80} |0.039~0.150
BTCA20-250 | 20 ' 250| 30 | 45 | 30 | 3.0 | 30 | M6x11 [210 |20 |1.13| 7.8 {0.80} |0.039~0.150
BTCA25-75 | 25| 75|35 |50 | 20 | 3.5 | 35 | M6x11 | 40 |17.5/0.40, 7.8 {0.80} |0.042~0.153
BTCA25-100 | 25 [100| 35 | 50 | 20 | 3.5 | 35 | M6x11 | 60|20 [0.53| 7.8 {0.80} |0.042~0.153
BTCA25-150 | 25 [150| 35 | 50 | 30 | 3.5 | 35 | M6x11 [110 |20 [0.80| 7.8 {0.80} |0.042~0.153
BTCA25-200 | 25 (200| 35 | 50 | 35 | 3.5 | 35 | M6x11 |[160 |20 [1.07| 7.8 {0.80} |0.042~0.153
BTCA25-250 | 25 250| 35 | 50 | 35 | 3.5 | 35 | M6x11 [210 |20 |1.33| 7.8 {0.80} |0.042~0.153
BTCA30-75 | 30| 75| 42 | 60 | 20 | 35| 40 | M8x13 | 35|20 [0.58| 20 {2.00} |0.045~0.160
BTCA30-100 | 30 (100 | 42 | 60 | 20 | 3.5 | 40 | M8x13 | 50 (25 (0.77| 20  {2.00} |0.045~0.160
BTCA30-150 | 30 [150| 42 | 60 | 30 | 3.5 | 40 | M8x13 |100 |25 |[1.16| 20 {2.00} |0.045~0.160
BTCA30-200 | 30 (200 | 42 | 60 | 40 | 3.5 | 40 | M8x13 [150 [25 [1.55| 20  {2.00} |0.045~0.160
BTCA30-250 | 30 (250 | 42 | 60 | 40 | 3.5 | 40 | M8x13 [200 (25 [1.93| 20 {2.00} |0.045~0.160
BTCA30-300 | 30 [300| 42 | 60 | 40 | 3.5 | 40 | M8x13 |250 |25 [2.32| 20 {2.00} |0.045~0.160
BTCA40-100 | 40 (100 | 52 | 70 | 30 | 3.5 | 50 |M10x16| 40 (30 (0.97| 37 {3.80} |0.050~0.165
BTCA40-150 | 40 (150 | 52 | 70 | 30 | 3.5 | 50 |M10x16| 90 [30 (1.44| 37 {3.80} |0.050~0.165

wv
=
7]
[¥3]
=
=
[0
i

294



